
9 Classwork 9 MAT 1275 Professor Chiu

Name:

1. Solve for x:
3(x� 6) + 2(x+ 4) = 2x� 12

2. Suppose an object has a height �16t2+78t+10 at when the stopwatch
reads t seconds. At what time does it hit the ground? At what time is 10
feet above the ground?

 

SimplifyLHS left
handside

andRHS righthandside 3 18 2 8 2 12
individually 5 10 2x 12

Isolate x term
do 2x on bothsides t

Isolate non term 3Y.at
Dividedby 3 on bothsides

Tnuonfnmoue.seIeigwy8Twheuet is time

1 5 0 81 1 0

Hit theground height 0 51 gff
1612 784 10 0

ETL7 2 812 391 5 0

aggy.ggzgft 5lsinat tiiaiiiwf
84 39 55 factor ie

It
t 5 8 1 0

Δ zero

t 5 0 or 841 0 I 390



What time is to feet aboveground
height 10

16147ft 10 10

4644pgt
10TI

f zt.at 39 0

or 8 39 939
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